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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises.of 6 questions of four
marks each.

(vi)  There is no overall choice in the question' paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, whe@er necessary.

(viii) Use of calculat&%ﬁ&s not permitted.
S
$&Q Section — A
. Q : . .
Question nugnbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option in each.

. 1095 .
1. The simplest form of 1168 18
17 25 13 15
@ 56 ®) 5 © 16 @ 16 !

2.  One card i1s drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?

3 3
@ 35 ®) 25 © 13 @ =5 1
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3. T o g =5 o ufey g < 9id cmdd o ®9 H oo {1 ST gehar g 7
@ o Oy © 22 @
4, AcThHfgaaagug (k—1) 22 +kx+ 1 HTHIIAh -4 Ak HIAA S :
@ -2 ) 2 © -5 @ 3
5. Al fogati A(=3, b) @1 B(1, b + 4) HI Ta™ a1t {@TEe H1 AeAfeg P(—1, 1) 8, @A b
TR
() 1 b) -1 ) 2 ) 0
6. T 97 W femm il
= 0-5 | 5-10 | 10-15 | 15-20 | 20-25
TRERAT 10 | 15 | 12 20 9
mmaﬁamagamaﬁ@maﬁmaﬁmﬁw%:
(@) 15 $§% (b) 25 @© 30 @ 35
»
7. J8 9T v e, e 245 U1 1029 I WM S WHST 5 AT S R |
(a) 15 (b) 16 @ 9 @ 5
8. Tugati A2, -3)T BE, 2) sd=Higlia:
(a) 23%78 (b) 35 (©) 43T (d) 5355
9. §gUC 3x% — 7x — 27 % QI I[hI BT THGH & :
(a) 27 (b) 9 ) -9 () %
.430/3/2.] 4
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3. Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@ T65 ®) T30 © 525 @ 462 1

4. If one zero of the quadratic polynomial, (k — 1) x2 + kx + 1 is —4 then the
value of k is

@ % © 3 @ 3 1

5. If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1, b + 4), then b 1s equal to

(a) 1 ) -1 © 2 @ 0 1

6. Consider the following distribution :

Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
F 10 12 20 9
requency . {\
The sum of lower }Z)- s of the. median class and the modal class is
(a) 15 A ()25 © 30 d) 35 1
@$
7. What is the largest number that divides 245 and 1029, leaving remainder
51n each ?
(a) 15 (b) 16 () 9 (d) 5 1

8. The distance between the points A(2, —3) and B(2, 2) is
(a) 2 units (b) 3 units (¢) 4 units (d) 5 units 1

9. The product of the two zeroes of the polynomial 3x> — 7x — 27 is :

(a) 27 (b) 9 () -9 (d) % 1

30502, 5 PO
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10.

11.

12.

13.

14.

15.

16.

17.

18.

afe weh aTer feig P & weh O ohg 9Tt 99 W &1 ¥991 {@Td PA 3R PB 39 YR G T {6
T 80° o IV W 3EhI &, A L POA SR 2 :

(a) 50° (b) 60° (c) 70° (d) 80°

I &1 11 9 15 1 T T  wit

k T 98 T Foees fTT aefiestr fiemr x + 2y = 3 @91 5x + ky = 7 &1 18 & 781 2,
q_

(tan 27° — cot 63°) HTAE &

Ife 1 wHEy gl s G eat § 2 ;3 1 U 8, dl I URATH! w1 A
3

(a, —b) AT (a, b) F A H gl B

(sin 20° — cos 70°) 1 HH |
K\Q
T3 GEAT 16-20, % 3oL GifeTe -
14 st e RN e Bisls v w68 341 3 | 38 Brewds & dwel
#ifm)

e
Tsh 1 1 Ui1-39.6 Al & | IHH! &kt T1d HIT |

Ife 3y — 1, 3y + 5 AT 5y + 1 Teh HHIG ¢ o SHieh Ug &, a1 y 1 A F7d HINT |

25
Ife sec 0 =" %,?ﬁcot 0 T HTH AT ST |

AYA

3sin 0+ 2 cos 0
H&Btane—4%,?ﬁ(3sme_zcosej 1 HH T4 ShifvTT |
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10. If the tangents PA and PB from an external point P to a circle with centre

O are inclined to each other at an angle of 80°, then ZPOA equals :

(a) 50° (b) 60° (c) 70° (d) 80° 1

In Question numbers 11 to 15, fill in the blanks :
11. The value of k for which system of equations x + 2y = 3 and 5x + ky = 7

has no solution is 1
12. The value of (tan 27° — cot 63°) is 1
13. Ifratio of the corresponding sides of two similar triangles is 2:3, then ratio

of their perimeters is 1
14. Distance between (a, —b) and (a, b) 1s 1
15. The value of (sin 20° — cos 70°) is 1

$
R

Answer the followi &uestions from Question numbers 16 to 20.
16. The perimeter & sector of ‘a circle of radius 14 cm is 68 cm. Find the

area of the %@}) . 1

OR

The circumference of a circle is 39.6 cm. Find its area. 1
17. If 3y — 1, 3y + 5 and 5y + 1 are three consecutive terms of an A.P., then

find the value of y. 1

25 .
18. IfsecO= 7 then find the value of cot 0. 1
OR
3sinO+2 0
If 3 tan 0 = 4, then find the value of ( = €08 ) 1
3sin 0—2cos 6
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19. THh I H 5 A, 4 it ad1 3 & i 7 | A H | ATGTSq1 U ¢ Hehtet T | Sirehd
T hifore foh fepreft T g fia i T8 8 |
20. 3Thfd 1 #, DE || BC, AD = 2.4 9}, AE = 3.2 9t 9o CE = 4.8 & 2 | BD 9@
I |
A
D/\E
/ :
TR 1
e -@
T3 G 21 © 26 T Tieh Y o 2 3Tk a0l
«
21. Taghifu: \/se026 J&&ecze =tan0 + cot O
\Q‘G
S
%m@
g hifsTe - ~ cos O = (cosec 0 + cot 0)

22. p o d WH F1q shie1, fSrTeh foTu fgama Tefiertor 42 — 2px + 1 = 0 s Irfaeh Jd &) ¢ |
23. T UTE Ueh U1Y IBTA MY | ST a8l T = — fir= geamd 31 <h) arfRrehdt s shifsre |
DG

21 U8 Teh H1Y 3BTA MY | ST I W 3T e @A 6l I 9 § AT B 6l
TTRIhar T ST |
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19. A bag contains 5 red, 4 blue and 3 green balls. A ball is drawn at random

from the bag. Find the probability of getting a ball not of blue colour. 1
20. In Fig. 1, DE || BC, AD =2.4 ¢cm, AE = 3.2 cm and CE = 4.8 cm. Find BD 1
A

/\s
VRN

Fig. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that : \/sec20 +@c\26 = tan 0+ cot O 2
oRS

\Qe
Prove that :& =(cosec 0 + cot 0) 2
cos 0

22. TFind the values of p for which the quadratic equation x2 — 2px + 1 = 0 has no
real roots. 2

23. Two dice are thrown at the same time. Find the probability of getting

different numbers on the two dice. 2
OR
Two dice are thrown at the same time. Find the probability that the sum
of the two numbers appearing on the top of the dice is more than 9. 2
.430/3/2.] 9 P.T.O.
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24. UH I ° 5 WA, 8 Whe qUT 7 Hietl e & | I W F U e ArgewAT Frebredt T |
TTRreRdl FTd ShifeTe foh Freprett € 7ig
() AATHHSTTHR |
(i) FHEIGTE ¢ | 2
25. e I g 8 5 Tl 1 g T a0 g A 8 I W il T3 T w791 1@l 6l 79
4 Tt 2, T g4 1 A G HIT | 2
26. 38 I 1 SR A I, THeh! TG 44 T 2 | 2
g -1
I HEAT 27 H 34 T TAH T3 3 Ih & |
27. 3R 2 H Toret Ferm H W@ SWhi (desks) %1 ST ¢¥IIs T & | STIRMET, WRa qe
3ren shAS: T3t A, B qun C wadl @ | e wredl o 3w difre
() FTa i fop o AT STefeRaT v E @A 93t § |
(ii) a&A,chﬁ@@#maﬁﬁqﬁsﬁgE%@W@Acﬁﬁwmﬁ
WW%@K\Q 3
R _
9 .
S of 5
@ 7
64 ey
4
\ &)
2 I
LR |
: 1 23 4 5 6 7 8 9 10
Y
TEHIA-2
28. Tl 3okl <h! Tsh AT o 3Thi 1 AMTHA 10 & | Afe T T F 18 =1 fean S i 37hi &
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24.

25.

26.

217.

A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(1) red or white

(11) not a white ball

The length of a tangent from a point A at a distance of 5 cm from the
centre of the circle is 4 cm. Find the diameter of the circle.

Find the area of a circle whose circumference is 44 cm.

Section - C

Question numbers 27 to 34 carry 3 marks each.

In Fig. 2, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in aline.

(1) IfA, BandC are ca@near, find the ratio in which point B divides the
line segment joi&iﬁ%A and.C.

N
O 9
§
P

(o]

Rows
O = N W B~ N ]

B

i) i
| |
1 23 4 5 6 7 8 9 10
Columns

Fig.-2

28. A number consists of two digits whose sum i1s 10. If 18 is subtracted from

the number, its digit are reversed. Find the number.

.430/3/2.] 11 P.T.O.
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29.

30.

31.

32.

33.

34.

afe fear 2 p (2w it T 2, o fag FIRTT 6 (7 — 2\/2) T i gEmn |
AU

TS TUEUEA faf¥ & 44, 96 @1 404 &1 9.9, (HCF) F1d I | 374: $71 9.9
(LCM) d i |

Ife 1 qem -2, 9§95 (x3 — 442 — 7x + 10) % I &, Al FHHT AU I T I |

3 Tt e o1 U o WY | 99 o ohg @ 7 T 1 g W R e foig € 9 wa we
[T %! AT HINT |

arran
8 Trft TS 1 Ueh TWTEUE WHfET ad1 38 3 : 4 % I7UTa | favifd Hifre |

cos 0 sin O

mw:(1—tan9)+(1—c0t6):(cose+8ine)

3T
fag T : (sin 6 + cosec@?+ (cos ©.+ sec 0)2 = 7 + tan20 + cot20.
g\

)
34@%SﬁXPaﬁg@&%OmﬁaﬁmﬁgXﬁ@%ﬁﬂéwﬁ%@ﬁ%WABaﬁ%
ﬁgRW@?ﬁ%@@
fag FifT . XA + AR= XB + BR

SRR 3

<1 gl oh! e 8 Tt e 6 &1 B | 39 o %1 s ST shitse fEeht & gl i
o &R o AT o SIS & |
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29. If \/5 1s given as an irrational number, then prove that (7 — 2\/5) 1s an

irrational number. 3

OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find

their LCM. 3
30. If 1 and —2 are the zeroes of the polynomial (x3 — 4x2 — 7x + 10), find its

third zero. 3
31. Draw a circle of radius 3 cm. From a point 7 cm away-from its centre,

construct a pair of tangents to the circle. 3

OR
Draw a line segment of 8 cm and divide it in the ratio 3 : 4. 3
cos 0 sin 0 .
32. Prove that (1— tan 0) + (1—cot0) - (cos O + sin 0) 3
ORQ\Q
Prove that (sin 0 -I(-b.@sec 0)2.+(cos 0 + sec 0)2 = 7 + tan20 + cot20. 3
@Q\Q

33. In Fig. 3, X&nd XQ are tangents from X to the circle with centre O. R is a

point on the circle and’AB is tangent at R. Prove that : 3

XA + AR =XB +BR

P
\ A
X
) B
Q
Fig. 3

34. The radii of two circles are 8 cm and 6 cm. Find the radius of the circle

having its area equal to the sum of the areas of the two circles. 3
430/3/2., 13 P.T.O.
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35.

36.

37.

38.

39.

40.

wE -9
9 G 35 T 40 dh Tceh 9 h 4 376 3 |

Torg e o6 wep TweRTor st # ol BT ot 919 <) YoTTaTi o ST % AT o SIS BT 2 |
A
fag il fop foreft amer foig & g1 o it 718 Tt Yl ot wargat ser gt € |

Teh TFTHR el o sclloh fTEeh! ST 21 8.1, 7, o T HeTeh I 3T shi 3 & HIh
Tsh 314 AR TEET 38 TehR ST 77 2 fob 37¢f et b1 = o o fohaii o el B |
I Sl 3TE T A 1 HIT |

e
12 9., =@ qe1 15 9.1, ST 9T Th 97 o 319 ST I [aeet Teh L T
FERITUT I Frsen & wisp 94 12 RawiHi § ren 31 | 319t i Frsen qen Raei it
el HaTS TTA HIfTT STafes fezm 2 foh vigp i Sams s5ehl B i diA T 2 |

Teh TR 2l o YT 6 UGH T AT 42 8 | 3 109 Ug dT 30 9 g H 37U 1 : 3 1
%ISHW%WWE@ 134 g 3Td shifere |
\Q
g\ S1orE
Q) \ :
1003ﬁ?300%aﬁ@ﬁﬁwmaﬁqumﬁmaﬁml

&Q
7nﬁ‘ﬁm§ﬁr@?é®mw%ﬁ1@twmaﬁm6m%3ﬁtmmw
FETH 10T 45° B .| T o1 Fraltg 311 hitore, | (Feam 2 fop+/3 = 1.732 R)

=1 512 w1 Hre Fra il
0 100-150| 150-200| 200-250| 250-300| 300-350
TR 4 5 12 2 2

Th S i 3T | 3 IY UEt a mﬁsaﬁmﬁmﬁ%wﬁwaﬁw%% |
IHh! TAHH 3T T I |
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Section - D
Question Nos. 35 to 40 carry 4 marks each.

35. In a right triangle, prove that the square of the hypotenuse is equal to sum

of squares of the other two sides.

OR
Prove that the tangents drawn from an external point to a circle are equal
in length.

36. A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 cm, such that the diameter of the hemisphereis equal to
edge of the cube. Determine the volume of the remaining block.

OR
A solid metallic cylinder of diameter 12 cm and height 15 cm 1s melted and
recast into 12 toys in the shape of a right cirecular. cone mounted on a
hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone 1s 3 times the radius.

37. The sum of first 6 terms of an A.P. is 42. The ratio of its 10th term to 30th
term is 1:3. Find the first and the 13t term of the A.P.

\@R
Find the sum of all umbers between 100 and 300.
NG

38. From the top @ 7 m high building, the angle of elevation of the top of a
cable tower 0°, and the angle of depression of its foot is 45°. Find the
height of the tower. Given that \/?3 =1.732.

39. Find the mean of the following distribution :

Class: 100-150| 150-200| 200-250| 250-300| 300-350
Frequency : 4 5 12 2 2

40. The sum of the reciprocals of the ages of a child 3 years ago and 5 years

hence from now is 3 Find his present age.
.430/3/2.] 15

%E

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

%E

.430/3/2.] 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

